Stockholms BF
DM for Mindre Rutinerade 2012-11-24

Partavling, 40 bord, 80 par.

Antal brickor: 36. Medel: 1404.0.

Plac Par Poang

1 27 1820
2 89 1813
3 85 1754
4 64 1737
5 1 1709
6 5 1699
7 75 1693
8 70 1691
9 73 1682

10 68 1662
11 39 1657
12 63 1609
13 99 1605
14 12 1603
15 25 1599
16 71 1581
17 83 1572
18 38 1571
19 65 1557
19 86 1557
21 34 1549
22 40 1541
23 91 1537
24 35 1529
25 21 1507
26 15 1500
27 23 1494
28 18 1482
29 26 1475
30 13 1465
31 8 1458
31 97 1458
33 76 1446
34 81 1440
35 3 1438
35 24 1438
37 31 1420
38 72 1417
39 30 1411
40 10 1406
41 33 1390
42 90 1385
43 29 1383
44 2 1368
45 61 1367
46 94 1364
a7 36 1361
a7 95 1361
49 6 1359
50 62 1350
51 22 1343
52 96 1326
53 74 1324
54 32 1321
55 79 1317
56 16 1311
56 100 1311
58 88 1308
59 37 1305
60 14 1302
61 11 1275
62 69 1273
63 77 1256
64 9 1242
65 82 1226
66 17 1224
67 28 1218
68 78 1195
69 80 1188
70 93 1165
71 98 1152
72 92 1149
73 87 1142
74 19 1133
75 7 1127
76 67 1091
7 84 1078
78 66 1021
79 4 987

80 20 740

%

64.81
64.57
62.46
61.86
60.86
60.51
60.29
60.22
59.90
59.19
59.01
57.30
57.16
57.09
56.94
56.30
55.98
55.95
55.45
55.45
55.16
54.88
54.74
54.45
53.67
53.42
53.21
52.78
52.53
52.17
51.92
51.92
51.50
51.28
51.21
51.21
50.57
50.46
50.25
50.07
49.50
49.32
49.25
48.72
48.68
48.58
48.47
48.47
48.40
48.08
47.83
47.22
47.15
47.04
46.90
46.69
46.69
46.58
46.47
46.37
45.41
45.33
44.73
44.23
43.66
43.59
43.38
42.56
42.31
41.49
41.03
40.92
40.67
40.35
40.14
38.85
38.39
36.36
35.15
26.35

Namn

Stina Szemere - Kenneth Léfstrand
Bjorn Samuelsson - Marten Aronsson
Rolf Norlin - Erik Heinmetz

Mi Andrén - Cecilia von Scheven

UIf Wahlberg - Marianne Petri
Jan-Ove Hed - Christine Claesson
Ami Emilsson - Hakan Emilsson
Lennart Lindberg - Mikael Bjorin
Lillemor Parsons - Elisabeth Bellman
Marie Roth - Lennart Roth

Christina Malms;jo - Rickard Malmsjo
Goran Andersson - Henrik Arve

Anki Westlund - Ulla Ljungdahl
Ragnar Botnen - Dick Persson

Mats Forsmark - Kjell Henriksson

Ulla Petterson - Kenneth Hedstrom
Margareta Mihlich - Karin Dufwa

Dan Martinson - Karin Martinson
Per-Owe Jalde - Synnove Billstam-Eriksson
Mikael Verstandig - Roland Karlsson
Renja Jonasson - Johan Dabhlin
Marise Germond - Lennart Falk
Ingemar Kjellberg - Roland Karlsén
Kerstin Grandell - Margareta Winell
Annette Ander - Ninnie Nygren

Berit Nylin - Ragnar Nylin

Mari-Anne Elsasdotter - Tuve Gustavsson
Sigvard Carlefred - Olle Magnuson
Marten Norman - Allan Nouri Otman Farha
Peter Eriksson - Birger Bogstag
Gunnar Enmark - Per Melker

Thomas Knutsson - Agneta Knutsson
Margareta Belaieff - Gertrud Bagstam
Astrid Lindfors - Torsten Lindfors
Birgitta Lindborg - Ake Farnlof

Sven Rudberg - Jan Elvin

Eva Klingspor - Berit Strandberg
Birgitta Elding - Sven-Erik Astrém
Jan-Erik Grindborg - Karin Grindborg
Eva Backhammar - Birgitta Schayah
Monica Grangien - Thomas Holmgren
Ewa Eriksson - Sven Martensson

Bo Lofgren - Anita Deckel

Maarja Joandi - Anna Dinkelspiel

Ola Murelius - Ola Weinberg

P-G Norlin - Lena Norlin

Thomas Holmgvist - Arndt Jonasson
Magnus Rasmussen - Dan Johansson
Karin Isberg - Peter Lind

Susann Mattsson - Peder Jensen
Kerstin Berne - Martin Berne

Goran Eriksson - Kerstin Kinnander
Annika Grindborg - Margareta Eriksson
Ulla Sjéwall - Rolf Borg

Caroline Freund - Mari-Ann Broberg
Anna Karin Osterberg - Monica Henriksson
Louise Wretman Close - Eva Wretman
Jan Jensen - Jan-Ove Ahlberg

Marita Erikson - Solveig Lewander
Anders Wittbom - Per Ostréom
Caroline Lidman - Gunnar Lidman
Tomas Clason - Charlotte Huldt
Madeleine Sundbaum - Traude Rothdeutsch
Ove Bertills - Ulla Bertills

Johan Wabhlquist - Lennart Skargren
Ulla Ahs - Agneta Shanwell
Marie-Louise Engblom - Lars Frojd
Gerd Dahlberg - Bertil Dahlberg

Lars Andersson - Bengt Orre

Torsten Ragnartz - Staffan Tellenbach
Lena Sandquist - Allan Stoltenborg
Kerstin Strém - Eva Larsson

Gunnel Levander - Ulla Winblad
Birgitta Bremer - Kare Bremer
Anna-Lena Bjork - Anders Staaf

Lars Strand - Arne Svensson

Birgit Hansson - Kerstin Svensson
Aina Ostberg - Maud Lindqwister
Kerstin Graberg - Ingrid Soderholm
Margareta Baunge - Elisabeth Whalstrom

MID

44355
29750
17228
90168
15242
48412
26579
28610
41572
92056
39779
47177
87178
44916
93623
37593
14785
38752
35585
82426
13353
82646
92765
36056
92490
81872
89478
45885
37868
53133
46432
27924
84869
93821
44925
40537
26851
30550
46264
35532
11055
80479
43825
37541
20372
41506
44621
48718
52830
44611
53137
51173
41769
46456
27948
52763
26327
92632
37954
47508
39441
30827
38102
46431
45393
46066
37548
53018
40560
39125
44630
52807
31316
34707
46251
52766
41628
22494
35823
53448
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32555
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92446
25717
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90291
92055
39780
40422
83276
45650
89638
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38753
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29729
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37133
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53063
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27925
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33117
94278
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14782
79807
52829
44612
53136
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38740
33367
35818
53065
38238
51593
92825
47512
39442
82370
37549
46430
44922
44636
32915
53017
35131
39019
46114
52806
48717
34706
45484
49213
20393
53962
38691
+2719
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1 #1086 2 « KD1086 3 «ED72
Nord v 10765 Ost vE104 Syd v EKn1075
Ingen *7 NS ¢ K73 ov + K8
&#EDKN83 &E7 94
& KD75 & EKn43 492 & EKn743 4 KKn1065 «3
vKn v 984 v D7 v Kn986 v KD4 v6
¢ EKn1032 ¢ KD9 ¢+ ED10865 ¢ Kn94 ¢ Kn543 + E109
976 K104 932 &D &3 &#EKD87652
492 a5 4984
v EKD32 v K532 v 9832
+ 8654 *2 + D762
&52 #KKn108654 #Kn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
94 67 44DO-1 YA 100 780 0.0 25 16 3NN+3 &3 690 750 30| 78 83 6#4DO-2 v¥9 500 770 1.0
9 32 34 O-1 vA 50 73.0 50| 34 7 3NN+3 &7 690 75.0 30| 95 66 54DO-2 ¢3 500 770 1.0
18 23 4¢ V-1 &A 50 73.0 5.0 77 84 3NN+3 43 690 750 30| 17 24 6NO-1 v3 100 65.0 13.0
21 20 44 O-1 vA 50 73.0 50| 81 80 3NN+3 ¢J 690 750 30| 21 20 4#0-1 v8 100 65.0 13.0
37 4 464 O-1 vA 50 73.0 5.0 5 36 3BNN+2 &3 660 65.0 13.0( 26 15 54 O-1 v3 100 65.0 13.0
33 8 Pass 67.0 11.0( 31 10 3NN+2 &7 660 65.0 13.0| 31 10 54 0O-1 v9 100 65.0 13.0
95 66 Pass 67.0 11.0( 8 75 3NN+2 ¢4 660 65.0 13.0| 35 6 5#0-1 v3 100 65.0 13.0
81 80 4¢ V= SA -130 64.0 14.0| 88 73 3NN+2 ¢J 660 65.0 13.0( 65 96 5# O-1 v3 100 65.0 13.0
74 87 34 O= vA -140 62.0 16.0| 95 66 3NN+2 &7 660 65.0 13.0| 74 87 5#0-1 v9 100 65.0 13.0
97 64 34 V+1 vT -170 60.0 18.0| 99 62 3NN+2 43 660 65.0 13.0| 79 82 5#0-1 v9 100 65.0 13.0
69 92 INV+3 &3 -180 58.0 20.0| 17 24 3NN+1 &3 630 450 33.0| 93 68 5#0-1 v9 100 65.0 13.0
536 34 O+2 YA -200 51.0 27.0| 28 13 3NN+1 43 630 45,0 33.0| 97 64 64 0-1 v9 100 65.0 13.0
11 30 34 O+2 ©vA -200 51.0 27.0| 29 12 3NN+1 44 630 45,0 33.0| 69 92 INN= *2 90 54.0 24.0
39 2 34 0+2 ©vA -200 51.0 27.0| 37 4 3NN+1 43 630 45,0 33.0| 34 7 4v N- a3 -100 51.0 27.0
71 90 24 O+3 YA -200 51.0 27.0| 39 2 3NN+1 43 630 45.0 33.0| 94 67 3v N-2 SA -100 51.0 27.0
77 84 24 O+3 vA -200 51.0 27.0| 40 1 3NN+1 ¢J 630 45.0 33.0 9 32 440+= v8 -130 40.0 38.0
79 82 34 O+2 VYA -200 51.0 27.0| 71 90 3NN+1 ¢J 630 450 33.0| 19 22 4+ 0= v3 -130 40.0 38.0
19 22 44 O= vA -420 40.0 38.0| 74 87 3NN+1 43 630 450 33.0| 29 12 34O +1 ¥9 -130 40.0 38.0
29 12 44 O= vA -420 40.0 38.0| 78 83 3NN+1 43 630 45.0 33.0| 33 8 440-= v9 -130 40.0 38.0
35 6 44 O= vA -420 40.0 38.0| 79 82 3NN+1 &7 630 450 33.0| 37 4 3#0+1 v9 -130 40.0 38.0
65 96 44 V= +6 -420 40.0 38.0| 89 72 3NN+1 ¢J 630 450 33.0| 38 3 3#0+1 ¥3 -130 40.0 38.0
89 72 44 O= vQ -420 40.0 38.0| 94 67 3NN+1 43 630 450 33.0| 40 1 440-= v9 -130 40.0 38.0
17 24 44 O+1 ©vA -450 19.0 59.0| 97 64 3NN+1 44 630 450 33.0| 77 84 4+ 0= v9 -130 40.0 38.0
25 16 44 O+1 ©vA -450 19.0 59.0| 98 63 3NN+1 ¢4 630 45.0 33.0| 88 73 44 0= v9 -130 40.0 38.0
26 15 44 V +1 v6 -450 19.0 59.0 9 32 3NN= v8 600 25.0 53.0 536 4 0+1 ¢9 -150 26.0 52.0
28 13 44 O+1 ©vA -450 19.0 59.0| 21 20 54 S= +8 600 25.0 53.0( 25 16 4v N-3 SA -150 26.0 52.0
31 10 44 O+1 YA -450 19.0 59.0| 35 6 5#S= T 600 250 53.0| 86 75 3#O+2 ¥3 -150 26.0 52.0
34 7 44 O+1 YA -450 19.0 59.0| 38 3 5#S= &2 600 25.0 53.0| 98 63 3« O0+2 v2 -150 26.0 52.0
38 3 44 O+1 ©vA -450 19.0 59.0| 69 92 54 S= *A 600 25.0 53.0(100 61 2 O+3 ¥9 -150 26.0 52.0
40 1 44 O+1 YA -450 19.0 59.0 [ 100 61 3NN= v8 600 250 53.0| 11 30 5#0O= v9 -600 16.0 62.0
78 83 44 O+1 ©vA -450 19.0 59.0| 18 23 34DO-2 +¢2 300 16.0 62.0( 18 23 54 O = 49 -600 16.0 62.0
85 76 44 O+1 YA -450 19.0 59.0| 91 70 4¢DV-2 &A 300 16.0 62.0| 28 13 5# O = v9 -600 16.0 62.0
86 75 44 O+1 YA -450 19.0 59.0| 93 68 4¢DV-2 4Q 300 16.0 62.0( 71 90 5 O = v9 -600 16.0 62.0
88 73 54 O= vA -450 19.0 59.0| 19 22 44 S+1 49 150 11.0 67.0| 99 62 5& O = +6 -600 16.0 62.0
91 70 44 O+1 v¥K -450 19.0 59.0| 85 76 4¢ V-3 »A 150 11.0 67.0| 14 27 3NV +1 v7 -630 6.0 72.0
98 63 44 O+1 YA -450 19.0 59.0| 26 15 4¢ V-2 &A 100 80 70.0( 39 2 3NV+1 vJ -630 6.0 72.0
99 62 44 O+1 ¢K -450 19.0 59.0| 11 30 3¢ V-1 &A 50 6.0 72.0( 81 80 4NV = vJ -630 6.0 72.0
100 61 44 O+1 YA -450 19.0 59.0| 14 27 34 N-1 &Q -100 20 76.0( 85 76 3NV +1 v7 -630 6.0 72.0
14 27 44 V+2 o7 -480 20 76.0( 33 8 5&#S-1 *A -100 2.0 76.0|] 91 70 3NV +1 vJ -630 6.0 72.0
93 68 5¢vDO= +¢K -650 0.0 78.0| 65 96 5 S-1 vQ -100 20 76.0( 89 72 54DO= ¥9 -750 0.0 78.0
4 4974 5 « KD109 6 & DKn1042
Vast v Kn32 Nord v 10976 Ost vKn973
Alla ¢ 652 NS + K96 ov + K93
#8654 &D3 &2
D82 4 KKnl1063 4 EKN643 &5 49 ~ E863
v KD87 v 10965 vEKDKn v854 v D4 v K86
¢ E103 ¢ KKn7 +3 ¢+ E854 ¢+ 107652 ¢ EDKn4
&#ED10 #Kn #E85 &#KKn1097 97643 D8
& E5 « 872 & K75
vE4 v32 v E1052
+ D984 ¢+ DKn1072 +8
&K9732 »642 &EKKn105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
66 97 4v V-1 +6 100 780 0.0 19 24 44 V-2 +6 100 770 10| 26 17 INDO-2 &A 500 78.0 0.0
90 73 24 V43 v2 -200 76.0 20| 82 81 4v V-2 +6 100 77.0 10| 32 11 44 N+1 ¢A 450 76.0 2.0
70 93 3NO= *A -600 74.0 40| 15 28 34 V-1 +6 50 700 80| 40 2 3NN+1 ¢Q 430 740 4.0
10 33 4v V= *2 -620 55.0 23.0( 66 97 44 V-1 +6 50 70.0 8.0 19 24 4y N= a A 420 720 6.0
12 31 4v V= +6 -620 55.0 23.0( 70 93 64 O-1 +Q 50 70.0 8.0 75 88 2D S+1 49 280 70.0 8.0
18 25 4v V= 49 -620 55.0 23.0| 87 76 64 O-1 +Q 50 70.0 8.0 6 37 34 N+2 ¢A 200 64.0 14.0
27 16 44 V= v2 -620 55.0 23.0| 96 67 3v V-1 +6 50 700 80| 29 14 INO-2 &A 200 64.0 14.0
29 14 4v V= 49 -620 55.0 23.0| 95 68 34V +2 &K -150 64.0 140(| 36 7 24 N+3 ¢4 200 64.0 14.0
30 13 4v V= a4 -620 55.0 23.0| 38 5 2vV+2 +¢6 -170  59.0 19.0( 72 91 INDO-1 #A 200 64.0 14.0
32 11 44 O= &8 -620 55.0 23.0| 80 83 2vV+2 &Q -170 59.0 19.0| 82 81 INO-2 &A 200 64.0 14.0
34 9 4v V= &5 -620 55.0 23.0( 86 77 2v V+2 v6 -170 59.0 19.0| 35 8 2y N+2 #Q 170 58.0 20.0
38 5 4v V= *2 -620 55.0 23.0( 100 62 2v V+2 #Q -170 59.0 19.0| 61 63 3« N+2 &Q 150 56.0 22.0
39 4 44 V= vlJ -620 55.0 23.0| 27 16 3v V+2 &K -200 53.0 25.0| 79 84 34 N= L JO) 140 52.0 26.0
72 91 4y V= &4 -620 55.0 23.0| 29 14 3vV+2 +6 -200 53.0 25.0| 90 73 2v S+1 49 140 52.0 26.0
75 88 4v V= 49 -620 55.0 23.0 1 3 2vV+4 &Q -230 49.0 29.0| 100 62 34 N= &Q 140 52.0 26.0
79 84 44 V= vlJ -620 55.0 23.0( 89 74 2v V+4 &3 -230 49.0 29.0| 12 31 24 S+2 49 130 48.0 30.0
86 77 44 V= v2 -620 55.0 23.0( 26 17 3NO= +Q -400 43.0 35.0| 27 16 2vy N= L Jo) 110 44.0 34.0
89 74 44 V= a4 -620 55.0 23.0( 32 11 3NO= *2 400 43.0 350| 39 4 24S+1 49 110 44.0 34.0
92 71 4v V= 49 -620 55.0 23.0( 35 8 3NO= +Q -400 43.0 35.0| 86 77 2 S+1 49 110 440 34.0
94 69 4v V= 49 -620 55.0 23.0( 94 69 3NO= +Q -400 43.0 35.0( 10 33 INO-1 &A 100 36.0 42.0
96 67 4e V= &8 -620 55.0 23.0| 30 13 54 0+1 3 -420 36.0 42.0( 70 93 INO-1 &A 100 36.0 42.0
15 28 3NV +1 &8 -630 36.0 42.0| 72 91 4v V= & K -420 36.0 42.0( 78 85 INO-1 &A 100 36.0 42.0
1 3 46 V+1 vJ -650 20.0 58.0( 98 65 4v V= +6 -420 36.0 42.0( 89 74 INO-1 &A 100 36.0 42.0
6 37 464 V+1 &4 -650 20.0 58.0| 10 33 3INO+1 +Q -430 28.0 50.0| 98 65 INO-1 &5 100 36.0 42.0
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20 23 4v O+1 &2 -650 20.0 58.0( 12 31 3NO+1 +¢Q -430 28.0 50.0( 66 97 2&# S= 49 90 28.0 50.0
22 21 44 O+1 ©vA -650 20.0 58.0( 18 25 3NO+1 +Q -430 28.0 50.0( 87 76 2# S= 49 90 28.0 50.0
26 17 4y V+1 92 -650 20.0 58.0( 20 23 3NO+1 +¢Q -430 28.0 50.0| 94 69 24 S= 49 90 28.0 50.0
35 8 4v V+1 49 -650 20.0 58.0( 61 63 3NO+1 +¢Q -430 28.0 50.0( 15 28 34 N-1 *A -50 19.0 59.0
36 7 4v V+1l a4 -650 20.0 58.0| 78 85 4v V+1 K -450 220 56.0( 22 21 3v N-1 *Q -50 19.0 59.0
40 2 4v O+1 &9 -650 20.0 58.0 6 37 3ANO+2 ¢Q -460 120 66.0| 34 9 3vS-1 49 -50 19.0 59.0
61 63 4v V+1 4 -650 20.0 58.0| 22 21 3NV+2 +¢6 -460 12.0 66.0( 80 83 2#S-1 49 -50 19.0 59.0
80 83 44 V+1 46 -650 20.0 580 34 9 3NO+2 +Q -460 120 66.0( 95 68 2v S-1 49 -50 19.0 59.0
87 76 4v V+1 44 -650 20.0 580 36 7 3NO+2 +¢Q -460 12.0 66.0( 96 67 4v S-1 49 -50 19.0 59.0
95 68 44 O+1 ©vA -650 20.0 58.0( 39 4 3NO+2 +¢2 -460 12.0 66.0( 20 23 INO= *] -90 11.0 67.0
98 65 44 V+1 &8 -650 20.0 580 40 2 3NO+2 o7 -460 12.0 66.0( 99 64 INO= *5 -90 11.0 67.0
99 64 4v V+1 &5 -650 20.0 58.0( 90 73 3NO+2 +¢Q -460 120 66.0| 30 13 34 N-2 *8 -100 7.0 71.0
100 62 4y V+1 &7 -650 20.0 58.0( 92 71 3NO+2 +¢Q -460 12.0 66.0 92 71 44 N-2 *A -100 7.0 71.0
19 24 3NV+2 ¢2 -660 20 76.0| 99 64 3NV+2 v6 -460 12.0 66.0 1 3 3¢V= *2 -110 4.0 74.0
78 85 3NV +2 49 -660 20 76.0| 75 88 4v V+2 #Q -480 20 76.0| 18 25 3#S-3 49 -150 2.0 76.0
82 81 3NV +2 &8 -660 20 76.0| 79 84 3NV+3 K -490 0.0 78.0| 38 5 3¢4DV+1l &2 -870 0.0 78.0
7 «D5 8 « EK543 9 a2
Syd v KKn83 Vast v Kn107 Nord v KD973
Alla ¢42 Ingen ¢ EDKn ov ¢ KKn532
#E8754 &K3 *64
4 E9 4 K10862 4D102 #Kn86 a4 KKn5 #ED7643
vE642 D10 v K65 v ED432 v E86 v Knl04
+Kn976 ¢ KD85 ¢ K52 496 ¢+ E94 + 1076
#K93 #DKn #D1092 #Kn85 210975 &E
« Kn743 497 1098
v975 v98 v52
¢ E103 4108743 + D8
#1062 &E764 #KDKn832
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
36 9 340-4 a3 400 780 00| 71 94 4v0O-5 49 250 780 00| 73 92 2¢v N= *A 110 78.0 0.0
27 18 3NO-2 &T 200 730 5.0 1 5 1aN+4 ¢9 200 710 7.0 2 4 44 0-1 +Q 100 61.0 17.0
39 6 3NV-2 *7 200 73.0 50| 16 29 14 N+4 49 200 710 7.0 7 38 44 O-1 v5 100 61.0 17.0
61 65 3NV-2 &4 200 730 50| 27 18 1a N+4 9 200 71.0 70| 11 34 44 O-1 &K 100 61.0 17.0
88 77 3NV-2 *4 200 730 50| 35 10 14 N+4 8 200 710 70| 21 24 44 O-1 &K 100 61.0 17.0
11 34 3NV-1 *4 100 55.0 23.0| 93 72 14 N+4 49 200 710 70| 28 17 44 O-1 v5 100 61.0 17.0
23 22 3NV-1 *4 100 55.0 23.0| 99 66 14 N+4 6 200 71.0 70| 30 15 44 O-1 &K 100 61.0 17.0
30 15 3NV-1 *4 100 55.0 23.0| 36 9 INN+3 &J 180 640 140| 35 10 44 O-1 &K 100 61.0 17.0
31 14 3NV-1 *4 100 55.0 23.0| 28 17 14 N+3 9 170 60.0 18.0| 39 6 44 O-1 &K 100 61.0 17.0
40 3 3NV-1 *4 100 55.0 23.0| 33 12 14 N+3 9 170 60.0 180 40 3 44 O-1 v5 100 61.0 17.0
67 98 3NV-1 *4 100 55.0 23.0| 96 69 24 N+2 YA 170 60.0 18.0| 67 98 44 O-1 &K 100 61.0 17.0
73 92 3NV-1 *4 100 55.0 23.0| 13 32 14 N+2 49 140 49.0 29.0| 71 94 44 O-1 v4 100 61.0 17.0
79 86 3NV-1 &5 100 55.0 23.0| 19 26 14 N+2 9 140 49.0 29.0| 79 86 44 O-1 v5 100 61.0 17.0
81 84 3NV-1 *4 100 55.0 23.0| 61 65 14 N+2 9 140 49.0 29.0| 83 82 44 O-1 &K 100 61.0 17.0
83 82 3NV-1 *4 100 55.0 23.0| 80 85 14 N+2 49 140 49.0 29.0| 96 69 44 O-1 v5 100 61.0 17.0
87 78 34 O-1 +3 100 55.0 23.0| 83 82 14 N+2 9 140 49.0 29.0| 99 66 44 O-1 &K 100 61.0 17.0
91 74 3NV-1 *4 100 55.0 23.0| 88 77 14 N+2 +9 140 49.0 29.0| 100 63 44 O-1 +Q 100 61.0 17.0
93 72 3NV-1 *4 100 55.0 23.0| 90 75 34 N= +9 140 49.0 29.0| 81 84 4v N-2 s A -100 44.0 34.0
100 63 3NV-1 *8 100 55.0 23.0| 97 68 14 N+2 v2 140 49.0 29.0 1 5 340= v5 -140 33.0 45.0
99 66 24 O= *A -110 40.0 38.0| 37 8 INN+1 3 120 38.0 40.0| 13 32 34 O= &K -140 33.0 45.0
13 32 2NV = *4 -120 38.0 40.0| 39 6 INN+1 2 120 38.0 40.0| 23 22 34 O= v5 -140 33.0 45.0
1 5 26V+2 4Q -130 35.0 43.0| 95 70 INN+1 438 120 38.0 40.0( 27 18 24 O+1 &K -140 33.0 45.0
28 17 3¢ O+1 &T -130 35.0 43.0 2 4 1a N+1 9 110 25.0 53.0| 61 65 24 O+1 &K -140 33.0 45.0
2 4 2¢ O+3 &T -150 32.0 46.0| 23 22 14 N+1 2 110 25.0 53.0| 76 89 24 O+1 ¥5 -140 33.0 45.0
33 12 24 O+2 &T -170 30.0 48.0( 30 15 3¢ S= *Q 110 250 53.0| 90 75 34 O= v5 -140 33.0 45.0
7 38 3NV= v8 -600 20.0 58.0| 31 14 14 N+1 3 110 25,0 53.0| 91 74 34 O= v5 -140 33.0 45.0
16 29 3NV = *4 -600 20.0 58.0| 62 64 14 N+1 ¢9 110 25.0 53.0| 93 72 34 O= aT -140 33.0 45.0
19 26 3NV = &4 -600 20.0 58.0| 73 92 14 N+1 2 110 25.0 53.0| 97 68 34 O= v5 -140 33.0 45.0
20 25 3NV= »8 -600 20.0 58.0| 81 84 1a N+1 ¢9 110 25.0 53.0| 88 77 3v N-3 &A -150 22.0 56.0
21 24 3NV= *5 -600 20.0 58.0| 87 78 14 N+1 ¢9 110 25.0 53.0| 19 26 34 O+1 &K -170  17.0 61.0
71 94 3NV= v8 -600 20.0 58.0| 91 74 14 N+1 46 110 25.0 53.0( 20 25 34 O+1 &K -170 17.0 61.0
76 89 3NV= *4 -600 20.0 58.0( 100 63 14 N+1 &5 110 25,0 53.0| 37 8 24 O+2 v¥5 -170  17.0 61.0
90 75 3NV = *4 -600 20.0 58.0( 21 24 2v O-2 49 100 11.0 67.0| 95 70 24 O+2 ¢Q -170  17.0 61.0
97 68 3NV = v3 -600 20.0 58.0( 40 3 2&V-2 s A 100 11.0 67.0| 16 29 34 O+2 v5 -200 12.0 66.0
62 64 44 V= *4 -620 10.0 68.0( 76 89 2v O-2 49 100 11.0 67.0 87 78 34 O+4 &K -260 10.0 68.0
35 10 3NV +1 &4 -630 4.0 740 79 8 2NV-2 LY 100 11.0 67.0( 33 12 44 O= &K -620 5.0 73.0
37 8 3NV+1 ¢4 -630 4.0 740(| 20 25 3v O-1 &4 50 6.0 720| 36 9 44 O= &Q -620 5.0 73.0
80 85 3NV +1 &7 -630 4.0 740 67 98 INN-2 v2 -100 4.0 740( 62 64 44 O= &K -620 5.0 73.0
95 70 3NV +1 &5 -630 4.0 74.0 7 38 29v0-= 49 -110 10 77.0| 80 85 44 O= &K -620 5.0 73.0
96 69 3NV+1l &5 -630 4.0 740 11 34 2vO= 49 -110 10 77.0| 31 14 24DO+1 &K -870 0.0 78.0
10  Kn10532 11 « D7 12 46
Ost v EKn3 Syd v K53 Vast v ED2
Alla 4 Kn932 Ingen + K1063 NS ¢ Kn742
&8 #7643 #EK1085
Ly » K96 210863 #E5 « K8432 & ED109
v D86 v K974 v92 v Kn1087 v 106543 v KKn97
¢ EK107 ¢854 + Kn975 ¢ ED82 +3 + ED8
#KKn642 #ES53 #D95 #E102 294 #Kn2
« ED87 4« KKn942 4 Kn75
v 1052 v ED64 v8
+ D6 *4 + K10965
#D1097 #KKn8 «D763
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
34 13 2NO-2 &T 200 76.0 20| 72 95 34DS= ¢7 530 780 0.0| 22 25 54DN+1 &2 950 78.0 0.0
96 71 2N O -2 *9 200 76.0 20| 62 66 3NN-= *2 400 76.0 20| 12 35 3« N+2 &J 150 740 4.0
98 69 3NO-2 a7 200 76.0 20| 61 67 2NO-4 a2 200 740 40| 40 4 24 N+3 T 150 740 4.0
31 16 34 N= *A 140 71.0 7.0| 74 93 24 S+1 &5 140 720 6.0| 68 99 4¢ N+1 &A 150 740 4.0
38 9 24 N+1 v4 140 710 70| 21 26 2NN= v] 120 68.0 10.0| 24 23 3¢ S+1 3 130 66.0 12.0
80 87 24 N= *3 110 68.0 10.0| 31 16 2NN= v] 120 68.0 10.0| 31 16 24 N+2 4T 130 66.0 12.0
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2 6 3+V-1 a] 100 57.0 21.0( 89 78 INN+1 vlJ 120 68.0 10.0( 34 13 3« N+1 &2 130 66.0 12.0
12 35 2v O -1 v5 100 57.0 21.0| 14 33 2v S= 7 110 56.0 22.0( 38 9 2¢ N+2 & 130 66.0 12.0
14 33 2NO-1 a7 100 57.0 21.0| 24 23 24 S= a5 110 56.0 22.0( 89 78 3« N+1 &9 130 66.0 12.0
21 26 2# V-1 +3 100 57.0 21.0|( 28 19 2v S= 7 110 56.0 22.0 1 7 24 N+1 o7 110 60.0 18.0
28 19 3v O-1 a8 100 57.0 21.0( 38 9 24 S= 7 110 56.0 22.0| 61 67 44 O-2 v8 100 58.0 20.0
40 4 3aV-1 a] 100 57.0 21.0( 40 4 2v S= 46 110 56.0 22.0 2 6 340-1 v8 50 46.0 32.0
68 99 2NO-1 a7 100 57.0 21.0| 63 65 24 S= 7 110 56.0 22.0 3 5 4eV-1 &A 50 46.0 32.0
82 85 3NO-1 a4 100 57.0 21.0( 80 87 24 S= +5 110 56.0 22.0( 29 18 44 O-1 &Q 50 46.0 32.0
84 83 3aV-1 a] 100 57.0 21.0| 94 73 2v S= &9 110 56.0 22.0| 37 10 34 O-1 v8 50 46.0 32.0
92 75 2¢v O -1 48 100 57.0 21.0( 97 70 24 S= &5 110 56.0 22.0( 63 65 34 O-1 v8 50 46.0 32.0
89 78 1lv O= &T -80 46.0 320 91 76 3¢ V-2 &Q 100 46.0 32.0| 77 90 44 V-1 SA 50 46.0 32.0
3 5 2¢V= a] 90 44.0 34.0( 100 64 2¢ V-1 &Q 50 440 34.0| 80 87 34 O-1 v8 50 46.0 32.0
1 7 34 N-1 &3 -100 40.0 38.0 1 7 24S-1 &5 -50 28.0 50.0| 81 86 44 V-1 &A 50 46.0 32.0
24 23 34 N-1 ¢4 -100 40.0 38.0 8 39 34 S-1 v9 -50 28.0 50.0| 88 79 34 O-1 v8 50 46.0 32.0
74 93 34 N-1 &A -100 40.0 38.0| 12 35 2v S-1 &5 -50 28.0 50.0| 92 75 4v V-1 SA 50 46.0 32.0
8 39 34 V= a] -110 31.0 47.0| 17 30 24 S-1 7 -50 28.0 50.0| 98 69 44 O-1 v8 50 46.0 32.0
36 11 3& V= a] -110 31.0 47.0| 22 25 24 S-1 a3 -50 28.0 50.0| 62 66 2v O= &6 -110 33.0 45.0
61 67 3% V= a2 -110 31.0 47.0| 29 18 24 S-1 v9 -50 28.0 50.0| 91 76 24 O = v8 -110 33.0 45.0
88 79 3¢ V= &8 -110 31.0 47.0| 36 11 24 S-1 *J -50 28.0 50.0| 17 30 34 V= &A -140 25.0 53.0
97 70 2v O= +Q -110 31.0 47.0| 37 10 34 S-1 *J -50 28.0 50.0| 36 11 3v O= &3 -140 25.0 53.0
100 64 3&V = a] -110 31.0 47.0| 68 99 2v S-1 &5 -50 28.0 50.0| 72 95 34 O= &3 -140 25.0 53.0
37 10 2NO = 48 -120 21.0 57.0| 77 90 2v S-1 +5 -50 28.0 50.0| 82 85 34 V= &K -140 25.0 53.0
63 65 INV+1 46 -120 21.0 57.0| 81 86 24 S-1 &5 -50 28.0 50.0| 94 73 34 V= SA -140 25.0 53.0
81 86 2N O = 48 -120 21.0 57.0| 82 85 24 S-1 &5 -50 28.0 50.0| 97 70 34 V= &A -140 25.0 53.0
94 73 2N O = a7 -120 21.0 57.0| 84 83 2v S-1 7 -50 28.0 50.0| 14 33 34 V+1 &A -170 14.0 64.0
20 27 2&V +2 a] -130 14.0 64.0| 88 79 2v S-1 *J -50 28.0 50.0| 28 19 34 O+1 #Q -170 14.0 64.0
62 66 34V +1 vA -130 14.0 64.0| 98 69 2v S-1 46 -50 28.0 50.0| 32 15 3v V+1l &A -170 14.0 64.0
91 76 4a V= a3 -130 14.0 64.0| 92 75 2¢ V= 4Q 90 12.0 66.0| 84 83 24 O+2 #Q -170 14.0 64.0
17 30 3v O = s A -140 8.0 70.0 2 6 2vS-2 +9 -100 5.0 73.0| 96 71 24 V+2 SA -170 14.0 64.0
22 25 2vO+1 ¢Q -140 8.0 70.0 3 5 24S-2 v9 -100 50 73.0( 21 26 24 O+3 +¢5 -200 8.0 70.0
72 95 2v O+1 a7 -140 8.0 70.0( 20 27 2v S-2 7 -100 50 73.0( 20 27 4v V= &A -420 4.0 74.0
32 15 3y O+1 8 -170 40 74.0| 32 15 3v S-2 *J -100 5.0 73.0( 74 93 4v V= SA -420 4.0 74.0
29 18 3NO= &7 -600 1.0 77.0| 34 13 3v S-2 +5 -100 5.0 73.0| 100 64 4v V= &K -420 4.0 74.0
77 90 3NO= 48 -600 1.0 770| 96 71 2v S-2 7 -100 5.0 73.0 8 39 4v O+1 &3 -450 0.0 78.0
13 « E876 14 «D2 15 & EKn7542
Nord v5 Ost v 10832 Syd vDKn
Alla ¢ 10872 Ingen + K75 NS ¢ KDKn
#K1085 &7654 »63
4D95 410432 & EK10 4Kn976 aKI3  o-
vKn64 vED87 vD65 vEK9 vE96 v 108752
4953 ¢ EKn + D932 ¢ Knl1084 + 853 +1074
#9743 &ED6 &D92 &K8 &#KD85 #Knl10974
& KKn #8543 «D1086
v K10932 vKn74 v K43
+ KD64 +E6 ¢+ E962
&Kn2 &#EKn103 &E2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
29 20 INO-3 v2 300 780 0.0 18 31 3NV-3 v2 150 770 1.0 2 8 44 S+2 &K 680 62.0 16.0
22 27 14 0O-2 v2 200 720 6.0| 89 80 3NV-3 v2 150 770 10| 13 36 44 S+2 &K 680 62.0 16.0
64 66 1lv O-2 & 200 720 6.0 3 7 464 0O-2 v4 100 68.0 10.0| 18 31 44 S+2 +8 680 62.0 16.0
75 94 INO-2 v3 200 720 6.0| 15 34 3NV-2 v3 100 68.0 10.0| 21 28 44 N+2 &9 680 62.0 16.0
82 87 INO-2 v2 200 720 6.0 21 28 44 O-2 A 100 68.0 10.0( 30 19 44 S+2 &K 680 62.0 16.0
85 84 34 O-2 ¢+ K 200 720 6.0 32 17 44 O-2 *A 100 68.0 10.0( 38 11 44 N+2 & 680 62.0 16.0
95 74 24 N+1 &3 140 66.0 12.0| 37 12 3NV-2 &5 100 68.0 10.0| 63 67 44 S+2 &K 680 62.0 16.0
90 79 3¢ N+1 &6 130 64.0 14.0| 82 87 44 O-2 A 100 68.0 10.0( 64 66 54 S+1 &K 680 62.0 16.0
2 8 2¢ S+1 a5 110 59.0 19.0| 100 65 44 O-2 *A 100 68.0 10.0( 69 61 44 N+2 ¢2 680 62.0 16.0
23 26 3¢ S= 49 110 59.0 19.0( 23 26 3NO-1 &3 50 49.0 29.0| 73 96 44 N+2 &J 680 62.0 16.0
25 24 3¢ S= +3 110 59.0 19.0| 30 19 3NV-1 v3 50 49.0 29.0| 75 94 44 S+2 &K 680 62.0 16.0
81 88 3¢ S= a5 110 59.0 19.0| 35 14 44 O-1 v4 50 49.0 29.0| 81 88 44 S+2 vA 680 62.0 16.0
3 7 INO-1 v2 100 50.0 28.0( 38 11 34 O-1 v4 50 49.0 29.0| 85 84 44 N+2 #J 680 62.0 16.0
30 19 INO-1 v2 100 50.0 28.0( 63 67 3NV-1 v3 50 49.0 29.0| 89 80 44 N+2 #J 680 62.0 16.0
39 10 INO-1 +Q 100 50.0 28.0( 64 66 3¢ V-1 v3 50 49.0 29.0| 93 76 44 N+2 &J 680 62.0 16.0
40 5 INO-1 v9 100 50.0 28.0( 73 96 3NV-1 7 50 49.0 29.0( 97 72 54 S+1 vA 680 62.0 16.0
63 67 INO-1 v2 100 50.0 28.0| 75 94 3NV-1 v2 50 49.0 29.0| 99 70 44 N+2 #J 680 62.0 16.0
62 68 2¢ S= 46 90 44,0 34.0| 83 86 3NO-1 &T 50 49.0 29.0 3 7 44 S+1 &8 650 35.0 43.0
4 6 2vS-1 &9 -100 32.0 46.0( 85 84 5¢ V-1 &7 50 49.0 29.0 9 1 44 S+1 &8 650 35.0 43.0
15 34 2v S-1 a5 -100 32.0 46.0( 90 79 44 O-1 *A 50 49.0 29.0| 23 26 44 S+1 vA 650 35.0 43.0
18 31 2v S-1 a5 -100 32.0 46.0| 95 74 3NO-1 &T 50 49.0 29.0| 33 16 44 S+1 &K 650 35.0 43.0
33 16 2v S-1 a5 -100 32.0 46.0| 29 20 2¢ V= v3 -90 36.0 42.0( 37 12 44 S+1 49 650 35.0 43.0
37 12 2¢ S-1 +5 -100 32.0 46.0( 25 24 2¢ V+1 &7 -110 34.0 440| 62 68 54 S= &K 650 35.0 43.0
38 11 3¢ S-1 a5 -100 32.0 46.0| 97 72 2¢ V+2 vT -130 32.0 46.0| 78 91 44 N+1 &J 650 35.0 43.0
73 96 1lv S-1 a5 -100 32.0 46.0( 92 77 24 O+1 v4 -140 30.0 48.0| 82 87 44 N+1 &J 650 35.0 43.0
83 86 24 N-1 a2 -100 32.0 46.0| 13 36 34 O+1 &A -170 28.0 50.0| 90 79 44 N+1 &J 650 35.0 43.0
92 77 3¢ S-1 &9 -100 32.0 46.0 4 6 3NV= v3 -400 20.0 58.0| 98 71 44 N+1 &J 650 35.0 43.0
93 76 3#S-1 a5 -100 32.0 46.0 9 1 3NO= &T -400 20.0 58.0 4 6 44 S= &5 620 17.0 61.0
98 71 24 N-1 A -100 32.0 46.0| 22 27 3NV= +5 -400 20.0 58.0| 15 34 44 N= v2 620 17.0 61.0
35 14 INO+1 #9 -120 15.0 63.0( 33 16 3NV = v3 -400 20.0 58.0| 25 24 44 S= &K 620 17.0 61.0
69 61 INO+1 9 -120 15.0 63.0| 69 61 3NO= &T -400 20.0 58.0| 29 20 44 S= &K 620 17.0 61.0
78 91 INO+1 46 -120 15.0 63.0( 81 88 3NV= v8 -400 20.0 58.0| 35 14 44 S= &5 620 17.0 61.0
89 80 INO+1 ¢3 -120 15.0 63.0( 99 70 3NO= &3 -400 20.0 58.0| 39 10 44 S= vA 620 17.0 61.0
97 72 INO+1 v2 -120 15.0 63.0 2 8 44 0= 48 -420 12.0 66.0| 40 5 44 S= &K 620 17.0 61.0
99 70 INO+1 ¢3 -120 15.0 63.0| 39 10 3NV +1 v3 -430 6.0 72.0| 83 86 44 S= &8 620 17.0 61.0
13 36 INO+2 v2 -150 7.0 71.0| 62 68 3NV +1 v3 -430 6.0 72.0| 32 17 24 N+3 vT 200 8.0 70.0
21 28 INO+2 v3 -150 70 71.0| 78 91 3NO+1 &T -430 6.0 72.0| 22 27 64 S-1 +8 -100 4.0 74.0
9 1 2vS-2 a5 -200 20 76.0( 93 76 3NV +1 v3 -430 6.0 72.0( 95 74 54 N-1 & -100 4.0 74.0
32 17 44 S-2 +3 -200 20 76.0( 98 71 3NV +1 v8 -430 6.0 72.0( 100 65 5 N -1 &9 -100 4.0 74.0
100 65 2v S-2 &4 -200 20 76.0f 40 5 3NV+2 4Q -460 0.0 78.0| 92 77 64 S-2 vA -200 0.0 78.0
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16 #9876 17 53 18 « DKn8

Vast v74 Nord vK4 Ost v Kn9852
ov + D109 Ingen + EK1094 NS ¢ Kn73
«KD102 #10952 &E2
& Kn 4 D1032 4 KKn1l0 «ED64 & E93 & K7
vEK932 v108 vEKNn97 ¢103 vyKD76 v43
48532 ¢ EKn76 ¢+ DKn8 4652 + E64 + KD109
&753 &E98 &#EKN8 &D743 #Knl08 #KD764
& EK54 49872 4106542
v DKn65 v D8652 vE10
+ K4 +73 ¢ 852
#Kn64 K6 #953
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
61 71 3¢ O-2 s A 200 78.0 0.0 111 44 O-2 7 100 740 40| 94 77 2NV = v2 -120 78.0 0.0
31 20 INN+2 ¢ 150 740 4.0 5 7 3NV-2 +9 100 740 40| 23 28 3#0+2 YA -150 74.0 4.0
90 81 INS+2 vA 150 740 40| 14 37 3NV-2 +9 100 740 40| 31 20 3« O+2 &2 -150 74.0 4.0
94 77 INN+2 &3 150 740 40| 76 95 34 O-2 7 100 740 40| 63 69 3#V+2 46 -150 74.0 4.0
23 28 INN+1 v9 120 68.0 10.0( 91 80 3NV-2 +K 100 740 4.0 1 11 2NV +3 v5 -210 68.0 10.0
38 13 INS+1 vK 120 68.0 10.0( 16 35 3NV-1 +3 50 61.0 17.0( 76 95 2NV +3 «Q -210 68.0 10.0
76 95 INN+1 7 120 68.0 10.0| 23 28 3NV-1 *A 50 61.0 17.0( 79 92 2NV +3 v5 -210 68.0 10.0
14 37 14 N+1 »T 110 62.0 16.0( 31 20 34 O-1 7 50 61.0 17.0 5 7 3NV= v8 -400 62.0 16.0
40 6 24 N= *J 110 62.0 16.0( 39 12 3NV-1 +K 50 61.0 17.0| 40 6 5¢ O= vA -400 62.0 16.0
84 87 24 N= &8 110 62.0 16.0( 40 6 3NV-1 *A 50 61.0 17.0| 99 72 54O = vA -400 62.0 16.0
4 8 INV-1 &T 100 55.0 23.0( 82 89 3NV-1 *A 50 61.0 17.0 3 9 3NO+1 &2 -430 47.0 31.0
65 67 INV-1 +9 100 55.0 23.0( 98 73 3NV-1 A 50 610 170| 10 2 3NO+1 &5 -430 47.0 31.0
99 72 2NO-1 &4 100 55.0 23.0( 100 66 2NV -1 +K 50 61.0 17.0| 14 37 3NO+1 4 -430 47.0 31.0
100 66 2v V-1 &K 100 55.0 23.0( 65 67 2¢ N-1 a4 -50 51.0 27.0| 22 29 3NO+1 a2 -430 47.0 31.0
22 29 INN= a3 90 46.0 320| 93 78 3v S-1 T -50 51.0 270 26 25 3NO+1 a2 -430 47.0 31.0
33 18 INN= 7 90 46.0 32.0| 24 27 2# N-2 vT -100 47.0 31.0| 65 67 3NV+1l 48 -430 47.0 31.0
34 17 INS= v2 90 46.0 32.0| 34 17 2¢ N-2 a4 -100 47.0 31.0| 70 62 3NV+1l 4Q -430 47.0 31.0
39 12 INN= a2 90 46.0 32.0| 10 2 INV+1 *A -120 44.0 34.0( 74 97 3NO+1 &2 -430 47.0 31.0
83 88 INN= +6 90 46.0 32.0| 22 29 24 O+1 ¢3 -140 41.0 37.0| 82 89 3NO+1 42 -430 47.0 31.0
26 25 1a S= vA 80 38.0 40.0( 86 85 24 O+1 ¢3 -140 41.0 37.0| 83 88 3NO+1 &2 -430 47.0 31.0
70 62 1a N= vT 80 38.0 40.0 3 9 INV+2 *A -150 36.0 42.0| 91 80 3NV+1 &Q -430 47.0 31.0
91 80 1le S= vA 80 38.0 40.0( 33 18 INV+2 *4 -150 36.0 42.0| 100 66 3NV +1 v9 -430 47.0 31.0
111 24 N-1 SA -50 20.0 58.0| 99 72 1INV +2 +9 -150 36.0 42.0 4 8 3NV+2 &Q -460 17.0 61.0
3 9 24 N-1 vT -50 20.0 58.0| 26 25 INV+3 ¢A -180 30.0 48.0| 16 35 3NO+2 42 -460 17.0 61.0
5 7 24 N-1 v8 -50 20.0 58.0| 64 68 2NV +2 *A -180 30.0 48.0| 19 32 3NV +2 4Q -460 17.0 61.0
16 35 24 N-1 vT -50 20.0 58.0| 96 75 INV+3 9 -180 30.0 48.0( 24 27 3NV +2 &Q -460 17.0 61.0
19 32 24 N-1 7 -50 20.0 58.0| 30 21 3NV= *A -400 19.0 59.0( 30 21 3NO+2 v2 -460 17.0 61.0
24 27 24 N-1 vT -50 20.0 58.0| 38 13 3NV= *A -400 19.0 59.0| 33 18 3INO+2 &2 -460 17.0 61.0
30 21 24 N-1 vT -50 20.0 58.0| 70 62 3NV= *A -400 19.0 59.0| 34 17 3NV +2 LY:] -460 17.0 61.0
36 15 24 N-1 vT -50 20.0 58.0| 74 97 3NV= *A -400 19.0 59.0| 36 15 3NV +2 v2 -460 17.0 61.0
63 69 24 N-1 vT -50 20.0 58.0| 83 88 3NV= *A -400 19.0 59.0| 38 13 3NV +2 +3 -460 17.0 61.0
64 68 24 N-1 vT -50 20.0 58.0| 84 87 3NV= &T -400 19.0 59.0| 39 12 3NV +2 v5 -460 17.0 61.0
74 97 24 N-1 vT -50 20.0 58.0| 90 81 3NV= *A -400 19.0 59.0| 61 71 3NV +2 v2 -460 17.0 61.0
79 92 24 N-1 7 -50 20.0 58.0| 94 77 3NV= *A -400 19.0 59.0( 64 68 3NV +2 v2 -460 17.0 61.0
86 85 24 S-1 vA -50 20.0 58.0 4 8 3NV+1 *A -430 5,0 73.0| 84 87 3NO+2 &5 -460 17.0 61.0
93 78 24 N-1 vT -50 20.0 58.0| 19 32 3NV +1 vK -430 50 73.0| 86 85 3NV +2 v2 -460 17.0 61.0
96 75 24 N-1 vT -50 20.0 58.0| 36 15 3INO+1 3 -430 50 73.0| 90 81 3NV +2 +3 -460 17.0 61.0
82 89 INO= s A -90 40 74.0| 61 71 3NV +1 *A -430 5.0 73.0| 93 78 3NV +2 v8 -460 17.0 61.0
98 73 2¢ O+1 &A -110 20 76.0| 63 69 3NV +1 *A -430 50 73.0| 96 75 3NO+2 46 -460 17.0 61.0
10 2 34S-3 vA -150 0.0 78.0| 79 92 3NV +1 *A -430 50 73.0| 98 73 3NV +2 a] -460 17.0 61.0
19 « D97 20 10742 21 « EKn10
Syd vKn9742 Vast v 943 Nord v D975
oV + E1087 Alla ¢ KKn2 NS + D73
&5 &K87 #»EK5
4632 & KKn84 a- & DKn9653 & K74 & D8532
v EK10 v D8653 v E1072 v D6 vEKn8642 v3
¢ K2 +6 ¢ E109876 +¢5 ¢E4 ¢ 652
#E10762 #KD8 #1054 &#EKN62 #83 #10962
«E105 « EK8 «96
v- v KKn85 v K10
¢ DKn9543 ¢ D43 + KKn1098
#Kn943 D93 &DKn74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
77 96 4vyDO-3 &A 800 780 00| 31 22 4v V-4 v3 400 78.0 0.0 80 93 ANDN= &2 810 78.0 0.0
24 29 4¢DS+1 vA 610 76.0 20 6 8 44DO-1 vJ 200 720 6.0| 23 30 4vDV-4 &A 800 75.0 3.0
113 4¢DS= ¢K 510 740 4.0(| 95 78 3NO-2 v8 200 720 6.0 27 26 4vDO-4 &A 800 75.0 3.0
85 88 4vDO-2 ¢Q 500 71.0 7.0 97 76 4e¢ V-2 T 200 720 6.0 6 8 3NN+2 &T 660 65.0 13.0
94 79 4vD0O-2 +Q 500 710 70| 99 74 3¢ V-2 &7 200 720 6.0 11 3 3NN+2 &2 660 65.0 13.0
62 72 4v O-4 a A 400 68.0 10.0| 100 67 3N O -2 a8 200 720 6.0 32 21 3NN+2 &3 660 65.0 13.0
17 36 4v O-3 +Q 300 57.0 21.0( 75 98 INS+1 +6 120 65.0 13.0( 62 72 3NN+2 ¢3 660 65.0 13.0
27 26 4v O-3 &4 300 57.0 21.0| 92 81 2NS= +6 120 65.0 13.0| 64 70 3NN+2 43 660 65.0 13.0
34 19 4v O-3 +3 300 57.0 21.0 113 240-1 +3 100 58.0 20.0( 77 96 3NN+2 &3 660 65.0 13.0
35 18 5v O-3 *4 300 570 210| 32 21 34 0O-1 v8 100 58.0 20.0( 91 82 3NN+2 ¢3 660 65.0 13.0
39 14 4v O -3 +Q 300 57.0 21.0| 64 70 24 O-1 &4 100 58.0 20.0( 94 79 3NN+2 ¢3 660 65.0 13.0
40 7 4v 0O-3 +Q 300 57.0 21.0( 83 90 24 O-1 &3 100 58.0 20.0 1 13 3NN+1 &2 630 34.0 44.0
65 69 4v O-3 +Q 300 57.0 21.0( 91 82 3¢ V-1 v3 100 58.0 20.0 5 9 3NN+1 &2 630 34.0 44.0
71 63 4v O-3 +Q 300 57.0 21.0( 23 30 INS= +6 90 50.0 28.0| 17 36 3NN+1 &2 630 34.0 44.0
91 82 4v O-3 +Q 300 57.0 21.0( 25 28 INS= +6 90 50.0 28.0( 24 29 3NN+1 &5 630 34.0 44.0
97 76 4v O-3 +Q 300 57.0 21.0( 40 7 INS= *T 90 50.0 28.0( 25 28 3NN+1 &5 630 34.0 44.0
6 8 49 0O-2 +Q 200 37.0 41.0 5 9 3NN-1 4Q -100 42.0 36.0| 31 22 3NN+1 42 630 34.0 44.0
15 38 4v V-2 &5 200 37.0 41.0( 15 38 2NS-1 +9 -100 42.0 36.0| 34 19 3NN+1 &2 630 34.0 44.0
23 30 4v O-2 +Q 200 370 410 24 29 3NS-1 *T -100 42.0 36.0| 35 18 3NN+1 45 630 34.0 44.0
25 28 4v O -2 +Q 200 37.0 41.0( 35 18 2NS-1 +6 -100 42.0 36.0| 37 16 3NN+1 42 630 34.0 44.0
32 21 4v O -2 +Q 200 37.0 410| 39 14 INS-1 T -100 42.0 36.0| 39 14 3NN+1 &2 630 34.0 44.0
37 16 4v O-2 +Q 200 37.0 410 65 69 24 O= v8 -110 33.0 450| 40 7 3NN+1 42 630 34.0 44.0
64 70 4v O-2 +Q 200 37.0 41.0( 80 93 3¢ V= &7 -110 33.0 45.0| 61 73 3NN+1 42 630 34.0 44.0
83 90 4v O-2 +Q 200 37.0 41.0| 84 89 3¢ V= v9 -110 33.0 45.0| 65 69 3NN+1 &2 630 34.0 44.0
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87 86 4v O-2 +Q 200 37.0 41.0| 85 88 3¢ V= v9 -110 33.0 45.0| 71 63 3NN+1 42 630 34.0 44.0
92 81 4v O-2 +9 200 37.0 410| 11 3 24 O+1 8 -140 25.0 53.0| 75 98 3NN+1 42 630 34.0 44.0
5 9 3¢S+2 YA 150 26.0 520| 20 33 3v V= 2 -140 25.0 53.0( 83 90 3NN+1 43 630 34.0 44.0
4 10 4v O-1 +Q 100 18.0 60.0( 34 19 34 O= *3 -140 25.0 53.0 85 88 3NN+1 43 630 34.0 44.0
61 73 24 O-1 +Q 100 18.0 60.0| 61 73 24 O+1 &A -140 25.0 53.0| 87 86 3NN+1 42 630 34.0 44.0
66 68 4v O-1 +Q 100 18.0 60.0 2 12 2NS-2 +8 -200 18.0 60.0| 92 81 3NN+1 42 630 34.0 44.0
75 98 4v O-1 +Q 100 18.0 60.0( 62 72 2N S-2 *T -200 18.0 60.0| 95 78 3NN+1 42 630 34.0 44.0
80 93 4v V-1 *5 100 18.0 60.0( 66 68 3NN-2 43 -200 18.0 60.0| 97 76 3NN+1 42 630 34.0 44.0
84 89 4v O-1 +Q 100 18.0 60.0| 17 36 3v N-3 +5 -300 12.0 66.0| 99 74 3NN+1 42 630 34.0 44.0
99 74 3vO-1 +Q 100 18.0 60.0| 27 26 24 N-3 +5 -300 12.0 66.0| 100 67 3NN+1 42 630 34.0 44.0
2 12 5¢DS-1 &A -100 8.0 70.0| 87 86 3NS-3 *7 -300 12.0 66.0 4 10 3NN= a5 600 9.0 69.0
31 22 5¢DS-1 vA -100 8.0 70.0 4 10 3NS-4 *T -400 70 71.0( 84 89 3NN= 43 600 9.0 69.0
95 78 5¢DS-1 &A -100 8.0 70.0| 71 63 34 N-4 +5 -400 7.0 71.0 2 12 4vyDV-3 &A 500 6.0 72.0
100 67 2N O = .7 -120 4.0 74.0( 37 16 34 N-5 +5 -500 4.0 740| 66 68 2NN+2 43 180 4.0 74.0
11 3 24V+2 ¢A -130 20 76.0| 94 79 3¢DV= v9 -670 2.0 76.0| 15 38 2v V= &K -110 2.0 76.0
20 33 5¢DS-2 vA -300 0.0 780 77 96 24D O+1 v6 -870 0.0 78.0| 20 33 54DS-2 +A -500 0.0 78.0
22 « KKn953 23 4842 24 « E972
Ost vKn974 Syd vKD4 Vast v 1094
oV *4 Alla ¢ EKn632 Ingen +10
#Kn83 #Kn8 #EKD63
&~ E87 46 4 EKD103 o- & KKn 4 D653
vKD1086 v2 vKn1086 vE753 vD6 v 873
¢ EKn97 ¢ KD1063 + D9 + 87 49852 + KDKn43
*4 #ED10975 &E5 #KD109643 #Knl0742 »8
« D1042 « Kn9765 1084
vE53 v92 v EKKn52
¢ 852 + K1054 +E76
K62 72 #95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
40 8 6NV-5 a5 500 78.0 0.0 115 64DV-1 ¢K 200 76.0 20| 24 31 3NN+2 +K 460 78.0 0.0
84 91 4v V-4 *4 400 76.0 20| 81 94 44 V-2 vK 200 76.0 20| 26 29 4v S+1 +9 450 720 6.0
115 3NV-2 a5 200 61.0 17.0| 98 77 4v V-2 *] 200 76.0 20| 36 19 4v S+1 5 450 720 6.0
12 4 3NV-2 45 200 61.0 17.0( 25 30 4v V-1 *] 100 70.0 8.0| 63 73 4v S+1 +9 450 720 6.0
18 37 5¢ O-2 *2 200 61.0 17.0| 78 97 4v O-1 *A 100 70.0 8.0| 85 90 4v S+1 +9 450 720 6.0
26 29 3NV-2 43 200 61.0 17.0| 100 68 4v V-1 6 100 70.0 8.0|100 68 4v S+1 9 450 720 6.0
28 27 3NV -2 43 200 61.0 170 12 4 l1la V= &J -80 66.0 12.0 6 10 3NN+1 K 430 64.0 14.0
32 23 3NO-2 3 200 610 17.0| 24 31 3#0+2 +K -150 63.0 150 12 4 3NS+1 &2 430 64.0 14.0
33 22 5¢ O-2 2Q 200 61.0 17.0| 65 71 44 O+1 &7 -150 63.0 15.0| 35 20 3NS+1 &2 430 64.0 14.0
38 17 3NV -2 43 200 61.0 17.0 6 10 3v V+1 ¢2 -170 56.0 22.0( 38 17 4v S= +9 420 55.0 23.0
62 74 3NV-2 43 200 61.0 17.0| 35 20 40O +2 v9 -170 56.0 220 40 8 4v S= 2 420 55.0 23.0
65 71 3NV-2 49 200 61.0 17.0| 62 74 3v V+1 &J -170 56.0 22.0( 62 74 4v S= +9 420 55.0 23.0
67 69 3NV-2 43 200 61.0 17.0| 85 90 3v V+1 3 -170 56.0 22.0| 88 87 4v S= +8 420 55.0 23.0
78 97 3NV-2 5 200 61.0 17.0| 93 82 3v V+1l +A -170 56.0 22.0( 95 80 4v S= +9 420 55.0 23.0
88 87 3NV-2 a5 200 61.0 17.0| 28 27 3¢ N-2 &K -200 49.0 29.0( 98 77 4v S= *] 420 55.0 23.0
100 68 3N O -2 a5 200 61.0 17.0( 72 64 3¢ N-2 &K -200 49.0 29.0 2 14 3NS= &4 400 43.0 35.0
313 540-1 Ly 100 41.0 37.0 511 54 0= +5 -600 45.0 33.0 511 3NS= T 400 43.0 35.0
7 9 3NV-1 49 100 41.0 37.0| 96 79 5& 0O = *2 -600 45.0 33.0( 16 39 3NS= +5 400 43.0 35.0
16 39 3NV-1 a2 100 41.0 37.0 7 9 4v V= +6 -620 31.0 47.0( 18 37 3NS= &2 400 43.0 35.0
63 73 3NV-1 a2 100 41.0 37.0| 16 39 4v V= 2 -620 31.0 47.0( 25 30 3NS= *2 400 43.0 35.0
72 64 3NV-1 43 100 41.0 37.0| 21 34 4v V= *A -620 31.0 47.0( 92 83 3NS= +5 400 43.0 35.0
85 90 3NV-1 a5 100 41.0 37.0| 26 29 4v V= a2 -620 31.0 47.0| 33 22 3vS+1 ¢5 170 35.0 43.0
81 94 3v V= 43 -140 34.0 44.0( 32 23 4v V= &J -620 31.0 47.0| 65 71 2v S+2 ¢9 170 35.0 43.0
5 11 4¢ O+1 44 -150 30.0 48.0( 38 17 4v V= a2 -620 31.0 47.0| 67 69 2NS+1 &7 150 31.0 47.0
35 20 3¢ O+2 44 -150 30.0 48.0| 61 75 4v V= *A -620 31.0 47.0| 81 94 INS+2 ¢9 150 31.0 47.0
98 77 3¢ O+2 v3 -150 30.0 48.0( 63 73 4v O= LN -620 31.0 47.0 7 9 2v S+1 &7 140 27.0 51.0
36 19 3¢ V+3 43 -170 26.0 52.0( 67 69 4v V= vK -620 31.0 47.0| 72 64 2v S+1 ¢9 140 27.0 51.0
2 14 5¢ O= a4 -600 20.0 58.0( 76 99 4v O= *+K -620 31.0 47.0| 66 70 2& N= + K 90 24.0 54.0
76 99 5¢ V= 43 -600 20.0 58.0( 88 87 4v V= &J -620 31.0 47.0 115 4¢vS-1 +9 -50 12.0 66.0
92 83 3NV= 49 -600 20.0 58.0( 92 83 4v V= *A -620 31.0 47.0 313 4vS-1 +9 -50 12.0 66.0
93 82 5&# 0= *Q -600 20.0 58.0 214 49y V+1 & -650 13.0 65.0( 21 34 4v N-1 »8 -50 12.0 66.0
96 79 5¢ V= *4 -600 20.0 58.0 313 4vV+l & -650 13.0 65.0( 28 27 44 N-1 »8 -50 12.0 66.0
6 10 5¢ O+1 3 -620 10.0 68.0( 40 8 5v V= *A -650 13.0 65.0( 32 23 4v S-1 *4 -50 12.0 66.0
21 34 5¢ V+1 3 -620 10.0 68.0| 66 70 4v V+1 48 -650 13.0 65.0| 61 75 4v S-1 +9 -50 12.0 66.0
24 31 5¢ V+1 46 -620 10.0 68.0( 84 91 4v V+1 #J -650 13.0 65.0( 78 97 44 N-1 + K -50 12.0 66.0
61 75 5¢ O+1 2 -620 10.0 68.0| 86 89 4v V+1 42 -650 13.0 65.0( 84 91 44 N-1 + K -50 12.0 66.0
95 80 5¢ O+1 44 -620 10.0 68.0( 18 37 4v V+2 & -680 3.0 75.0| 86 89 4v S-1 &J -50 12.0 66.0
86 89 5¢ O+2 2 -640 4.0 740 33 22 4v V+2 ¢2 -680 3.0 75.0| 93 82 4v S-1 +5 -50 12.0 66.0
25 30 6¢ O= vA -1370 10 77.0| 36 19 4v V+2 a2 -680 3.0 75.0| 96 79 4v S-1 +9 -50 12.0 66.0
66 70 6¢ O= a3 -1370 1.0 77.0| 95 80 4v O+2 &J -680 3.0 75.0| 76 99 3NS-2 *2 -100 0.0 78.0
25 # K654 26 « DKn753 27 «E4
Nord v DKn8 Ost vK2 Syd v 76532
ov ¢ E4 Alla 4963 Ingen + K3
#Kn1098 #1097 #EDG6G4
482 & DKn 4 E942 4 K106 4 D963 4 Knl075
v K95 vE vyE97 vD63 vEK9 104
¢+ DKn962 ¢ K10875 ¢ EK87 ¢ Kn42 ¢742 ¢ ED9
#ED5 *K7432 #D5 #KKn32 K87 #10932
« E10973 48 « K82
v 1076432 vKn10854 v DKn8
+3 + D105 + Kn10865
*6 £E864 &#Kn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
89 88 5¢D0O-2 &3 500 78.0 0.0 8 10 3NV-2 2Q 200 780 00| 89 88 2NS= vQ 120 78.0 0.0
93 84 44 N= +5 420 76.0 20| 27 30 3NV-1 43 100 720 6.0| 67 71 2v N= ] 110 740 4.0
6 12 3vO-4 *6 400 740 40| 34 23 3NV-1 vJ] 100 720 6.0| 79 98 2v N= a5 110 740 4.0
22 35 5¢ O-2 *6 200 66.0 12.0| 37 20 3NV-1 3 100 720 6.0 99 78 2v N= ] 110 740 4.0
34 23 5¢ V-2 *6 200 66.0 12.0| 87 90 3NO-1 v4 100 720 6.0| 36 21 INO-2 +5 100 68.0 10.0
73 65 5¢ V-2 *6 200 66.0 12.0] 99 78 3NO-1 v5 100 720 6.0| 37 20 44 V-2 v2 100 68.0 10.0
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3NV -2 *9 200 66.0 120 73 65 INO+1 vJ -120 66.0 12.0| 96 81 3a V-2 v2 100 68.0 10.0
5¢ V-2 vyQ 200 66.0 12.0| 25 32 2NV +2 &3 -180 64.0 14.0 315 340-1 +vQ 50 58.0 20.0
5¢ O-2 6 200 66.0 12.0 3 15 3NO= vJ -600 51.0 270 25 32 24 V-1 vi7 50 58.0 20.0
5¢ O-2 «A 200 66.0 12.0 7 11 3NV= 43 -600 51.0 27.0| 26 31 24 V-1 v2 50 58.0 20.0
3y S+1  +Q 170 58.0 20.0| 26 31 3NV= 43 -600 51.0 27.0| 27 30 24 V-1 v2 50 58.0 20.0
5¢ O-1 &A 100 49.0 29.0| 29 28 3NV= 43 -600 51.0 270 39 18 34 V-1 v7 50 58.0 20.0
5¢ O-1 %6 100 49.0 29.0( 36 21 3NO= 48 -600 51.0 27.0| 86 91 2NV-1 v2 50 58.0 20.0
5¢ O-1 &A 100 49.0 29.0( 39 18 3NV= a5 -600 51.0 27.0( 97 80 34 O-1 vQ 50 58.0 20.0
44 O -1  &4A 100 49.0 29.0| 40 9 3NV= 43 -600 51.0 27.0 2 16 3y N-1 &7 -50 46.0 32.0
5¢ O-1 %6 100 49.0 29.0( 62 76 3NV = +3 -600 51.0 27.0 4 14 INS-1 43 -50 46.0 32.0
5¢ O-1 vT 100 49.0 29.0( 64 74 3NV= +Q -600 51.0 27.0| 34 23 3vS-1 43 -50 46.0 32.0
4¢ O-1 #6 100 49.0 29.0| 85 92 3NV= 45 -600 51.0 270 68 70 2vy N-1 45 -50 46.0 32.0
3NV-1 *J 100 49.0 29.0( 89 88 3NV= «Q -600 51.0 27.0| 85 92 3v N-1 & -50 46.0 32.0
4v S-1 *Q -50 39.0 39.0| 96 81 3NV= a5 -600 51.0 27.0 6 12 2v N-2 o7 -100 37.0 41.0
44 N-1 vA -50 39.0 39.0 2 16 3NV+1l 45 -630 23.0 55.0( 73 65 4y N-2 &7 -100 37.0 41.0
4e V= vQ -130 31.0 47.0 4 14 3NV+1l 3 -630 23.0 55.0 94 83 3v N-2 a7 -100 37.0 41.0
3¢ O+1 26 -130 31.0 47.0 6 12 3NO+1 v4 -630 23.0 55.0( 100 69 4v N-2 &) -100 37.0 41.0
3¢ V+1 v8 -130 31.0 470( 17 1 3NV+1l 43 -630 23.0 55.0 7 11 24 V= v2 -110 27.0 51.0
3¢ O+1 #6 -130 31.0 470 19 38 3NO+1 v4 -630 23.0 55.0 13 5 24 O= vQ -110 27.0 51.0
4¢ O= 4 A -130 31.0 47.0( 22 35 3NV+1 &3 -630 23.0 55.0( 17 1 24 V= *6 -110 27.0 51.0
3¢ V+1 v8 -130 31.0 47.0( 33 24 3NV+1l 43 -630 23.0 55.0| 29 28 24 V= *6 -110 27.0 51.0
3¢ O+2 6 -150 21.0 57.0f 63 75 3NV+1 &3 -630 23.0 55.0( 63 75 24 V= v6 -110 27.0 51.0
3¢ O+2 %6 -150 21.0 57.0( 67 71 3NV+1 &3 -630 23.0 55.0( 66 72 24 V= v5 -110 27.0 51.0
3¢ O+2 %6 -150 21.0 57.0( 68 70 3NV +1l 45 -630 23.0 55.0( 87 90 INV+1 v7 -120 20.0 58.0
4 V41 vQ -150 21.0 57.0 77 61 3NV+1 &3 -630 23.0 55.0( 19 38 24 O+1 vQ -140 14.0 64.0
5¢ O= *6 -600 8.0 70.0( 79 98 3NV+1l «Q -630 23.0 55.0( 40 9 24 V+1l v7 -140 14.0 64.0
5¢ O= v3 -600 8.0 700 82 95 3NV +1l &7 -630 23.0 55.0( 62 76 24 V+1 v5 -140 14.0 64.0
5¢ V= vQ -600 8.0 70.0( 93 84 3NV+1 &3 -630 23.0 55.0( 64 74 34 V= v5 -140 14.0 64.0
5¢ O= *6 -600 8.0 70.0( 94 83 3NV+1l «Q -630 23.0 55.0| 77 61 24 V+1 #A -140 14.0 64.0
5¢ O= v7 -600 8.0 70.0( 97 80 3NV+1l 4Q -630 23.0 55.0 8 10 INO+2 +vQ -150 5.0 73.0
3NV = ) -600 8.0 70.0( 13 5 3NV+2 a3 -660 3.0 75.0| 22 35 4v N-3 4] -150 5.0 73.0
5¢ V= ¢ A -600 8.0 70.0( 66 72 3NV +2 49 -660 3.0 75.0 82 95 4y N-3 a7 -150 5.0 73.0
5¢ O= v2 -600 8.0 70.0( 86 91 3NV+2 43 -660 3.0 750 93 84 3¢ S-3 vA -150 5.0 73.0
5¢ O= *6 -600 8.0 70.0( 100 69 3NV +2 a5 -660 3.0 75.0| 33 24 4¢DS-2 vK -300 0.0 78.0
4 K72 29 a- 30 « K94
vE75432 Nord v EKD852 Ost vD107632
¢+E Alla ¢ 1092 Ingen ¢ED
#E108 #EKn107 #KKn
« 108 # Kn9653 «K1062 «DKn853 « E862 # DKn3
vK109 vKn8 v6 v Kn104 v5 v K94
¢ Kn765 ¢ D94 ¢ EK3 +6 ¢ KKn876 ¢ 543
#DKn93 #654 #D8532 #K964 *862 *E754
«ED4 «E974 « 1075
vD6 v973 v EKn8
¢ K10832 ¢ DKn8754 ¢ 1092
*K72 *- «D1093
Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
4v N+2 3 680 78.0 68 72 54DV-4 vA 1100 78.0 119 49y N+2 3 480 77.0
3NS+2 &3 660 70.0 86 93 44DO-3 v3 800 76.0 95 84 4y N+2 3 480 77.0
SBNN+2 «Q 660 70.0 515 4v N+1 +6 650 71.0 26 33 4y N+1 ¢5 450 73.0
B3NS +2 &3 660 70.0 63 77 4v N+1 4Q 650 71.0 27 32 4v N+1 ¢5 450 73.0
3NS+2 &9 660 70.0 87 92 4v N+1 46 650 71.0 8 12 A4v v4 420 67.0

3NS+2 #Q 660 70.0
BNN+2 42 660 70.0
BNS+2 T 660 70.0

«Q 650 71.0
»6 620 50.0
6 620 50.0

aQ 420 670
aQ 420 670
4Q 420 670

z2zZ2zz222Z2
+ +0nan
5
>
[&)]

4v N+1 %6 650 41.0 8 12 4v »6 620 50.0 86 93 2N 240 62.0
4v N+1 ¢4 650 41.0 30 29 4v 6 620 50.0 3 17 2v 4 3 230 59.0
4v N+1 %6 650 41.0 35 24 4y 6 620 50.0 9 11 3v N+3 &A 230 59.0

4y N+1 &6 650 41.0
4y N+1 &3 650 41.0
4v N+1 43 650 41.0
4y N+1 ¢4 650 41.0
49 N+1 v8 650 41.0
4v N+1 43 650 41.0
5¢v N= &5 650 41.0
4y N+1 &3 650 41.0
4v N+1 43 650 41.0
4y N+1 &6 650 41.0
49 N+1 @] 650 41.0
4v N+1 49 650 41.0

+6 620 50.0
6 620 50.0
6 620 50.0
620 50.0
6 620 50.0
6 620 50.0
+6 620 50.0
6 620 50.0
6 620 50.0
«Q 620 50.0
6 620 50.0
6 620 50.0

14 6 INS+4 6 210 560
a3 200  49.0
&A 200 490
4aQ 200 490
¢5 200  49.0
4aQ 200 490
&A 200 490
30 20 2v N+2 &Q 170 320
34 25 3y N+1 4Q 170 320
N+l &J 170 32.0
40 10 2v N+2 &3 170 320
61 79 3v N+1 3 170 320

L L L L I (I I TR T T T I T O T
*
w

4v N+1 +v8 650 41.0 34 25 44 O-3 *Q 300 32.0 65 75 29y N+2 4Q 170 32.0
4v N+1 49 650 41.0 317 2v N+2 +6 170 27.0 83 96 2y N+2 4Q 170 32.0
4v N+1 43 650 41.0 416 3y N+1 46 170 27.0 90 89 2¢v N+2 «Q 170 32.0
4v N+1  vJ 650 41.0 28 31 3y N+1 46 170 27.0 97 82 3vy N+1 &7 170 32.0
4v N+1 45 650 41.0 74 66 3y N+1 6 170 27.0 98 81 1v N+3 43 170 32.0
4v N+1 43 650 41.0 20 39 2v N+1 #4 140 22.0 100 70 2v N+2 ¢4 170 32.0

QOO ODINNNNNNNNNNNNNNNNNNNNNNNNNO0000 0000000
=
o
S
~
o
N
<
2002Z2Z2Z2Z20<Z2Z2Z2Z220222Z2Z22222222222222

NNNNNDD OO W L W LML) L)L) L) L) L)L L) ) L) ) L) W W) W W W
ODO0DO0DODODODDODODODODODODODDDDDDODODODOD
©
a
0
=
IN
<
NNNNNOOOOUIUTIUICTUICTOTANNNRNNRNNRNRN NN NN NN N
OOORPPROUININOOIREPRE 000000 000W00P0POPNNPONONNNNNO
D000 DODODODODODDDDDDODODODOD

w

®©

N

[

w

<
NNNNNNOOOOOADRMDMAANMRADRNDNAANNNNNNNRRRER R PR
VORPRPREPRPORPRPPPRPDODNDNININDO0O0O0O0O0ONOOIRRRPOIOIEE
ODO0D0DODDDODDODODODODODODODODDDDODODODOD

4v N+1 49 650 41.0 23 36 44 V-1 v7 100 19.0 20 39 2¢y N+1 4Q 140 17.0
4y N = 3 620 16.0 40 10 44 O-1 v9 100 19.0 37 22 2v N+1 v4 140 17.0
49 N = *4 620 16.0 14 6 4v N-1 6 -100 13.0 69 71 2¢v N+1 4Q 140 17.0
4y N = 43 620 16.0 83 96 4v N-1 +6 -100 13.0 74 66 2y N+1 &5 140 17.0
3NS = *3 600 12.0 94 85 4v N-1 6 -100 13.0 7 13 INN+1 #4 120 12.0
2v N+3 %6 200 10.0 98 81 5v N-1 *Q -100 13.0 78 62 4v N-1 2Q -50 7.0
2N S = &3 120 8.0 9 11 34 O= *4 -140 7.0 80 99 4v N-1 A -50 7.0
6v N-1 *4 -100 3.0 67 73 34 O= v3 -140 7.0 87 92 4v N-1 &A -50 7.0
6v N-1 *4 -100 3.0 18 2 6vy N-2 *6 -200 2.0 88 91 4v N-1 2Q -50 7.0
4v N -1 a5 -100 3.0 26 33 5vDN-1 +6 -200 2.0 94 85 4vyDN-1 «Q -100 2.0
3NS-1 oT -100 3.0 27 32 6v N-2 *6 -200 2.0 67 73 24 V+1 w7 -140 0.0
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v 8632
+ ED8
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&DKn94
4 DKn1087 &K
v9 v KKn763

«E73

vK4

+ KDKn532
&Kn3

410842 4 Kn95
vE10765 vKn9

¢ KKn73 +9 ¢+ EKD5 + Kn104 +8 + 1097
&E4 #KKn832 &EK10 #7653 D62 #K10985
« EKN97 « E962 « KD6
v K7 v D54 v D832
4106542 47632 ¢ E64
97 82 &E74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
39 22 3NV-6 &5 300 780 00| 27 34 44 N= *Q 420 78.0 0.0| 91 90 6¢ N= vJ 920 78.0 0.0
21 1 3NO-4 *4 200 75.0 30| 31 30 4v0-2 8 200 75.0 3.0 8 14 3NS+3 &2 490 740 4.0
40 11 4v V-4 &5 200 75.0 3.0| 99 82 5¢ O-2 L X} 200 750 3.0| 81 61 3NS+3 44 490 74.0 4.0
2 20 2NO-3 *2 150 70.0 80| 29 32 5¢ V-1 vA 100 70.0 8.0| 89 92 3NS+3 42 490 740 4.0
517 3NO-3 *2 150 70.0 80| 62 80 5NV-1 +9 100 70.0 8.0 2 20 3NS+2 v5 460 53.0 25.0
19 3 3NV-3 *6 150 70.0 80| 65 77 3NV-1 v8 100 70.0 8.0 5 17 3NS+2 &4 460 53.0 25.0
4 18 2v V-2 *6 100 59.0 19.0| 64 78 2¢ V+1 #Q -110 65.0 13.0 6 16 3NS+2 42 460 53.0 25.0
8 14 INV-2 &5 100 59.0 19.0| 87 94 3¢ V= *Q -110 65.0 13.0| 15 7 3NS+2 v7 460 53.0 25.0
64 78 2v V-2 *6 100 59.0 19.0 8 14 3¢ V+1 #Q -130 58.0 200 19 3 3NS+2 v5 460 53.0 25.0
66 76 2v V-2 *6 100 59.0 19.0| 15 7 3¢ V+1 &4 -130 58.0 200 21 1 3NS+2 v6 460 53.0 25.0
89 92 2v V-2 &5 100 59.0 19.0| 68 74 2¢ V+2 v8 -130 58.0 20.0| 24 37 3NS+2 44 460 53.0 25.0
96 85 2N O -2 +6 100 59.0 19.0| 75 67 2¢ V+2 #Q -130 58.0 20.0| 29 32 3NS+2 vT 460 53.0 25.0
99 82 2v V-2 *6 100 59.0 19.0| 91 90 2¢ V+2 9 -130 58.0 20.0| 35 26 3NS+2 44 460 53.0 25.0
100 71 2v V-2 *6 100 59.0 19.0| 35 26 24 V+3 YA -200 52.0 26.0| 36 25 3NS+2 T 460 53.0 25.0
91 90 24 S= 4Q 90 50.0 28.0| 24 37 3NV= v2 -600 49.0 29.0| 38 23 3NS+2 48 460 53.0 25.0
15 7 2v V-1 v2 50 39.0 39.0| 89 92 3NO= 8 -600 49.0 29.0| 68 74 3NS+2 44 460 53.0 25.0
27 34 2v V-1 *6 50 39.0 39.0 6 16 44 V= *Q -620 46.0 32.0| 70 72 3NS+2 44 460 53.0 25.0
29 32 2v V-1 v3 50 39.0 39.0 2 20 3NO+1 o7 -630 34.0 44.0| 75 67 3NS+2 &2 460 53.0 25.0
35 26 2v V-1 *6 50 39.0 39.0 517 3NO+1 &8 -630 34.0 44.0| 84 97 3NS+2 48 460 53.0 25.0
65 77 2v V-1 &5 50 39.0 39.0( 19 3 3NO+1 &2 -630 34.0 44.0| 88 93 3NS+2 +¢8 460 53.0 25.0
70 72 2NO-1 *4 50 39.0 39.0] 21 1 3NO+1 %8 -630 34.0 44.0| 96 85 3NS+2 42 460 53.0 25.0
75 67 2v V-1 *6 50 39.0 39.0| 36 25 3NO+1 v4 -630 34.0 44.0( 99 82 3NS+2 v5 460 53.0 25.0
81 61 2v V-1 *6 50 39.0 39.0( 38 23 3NO+1 v4 -630 34.0 44.0| 31 30 3NS+1 44 430 28.0 50.0
88 93 2v V-1 &5 50 39.0 39.0| 39 22 3NO+1 a2 -630 34.0 44.0| 40 11 3NS+1 %2 430 28.0 50.0
98 83 2v V-1 &5 50 39.0 39.0| 40 11 3NV+1 #Q -630 34.0 44.0| 62 80 3NS+1 &2 430 28.0 50.0
38 23 INV= *6 -90 28.0 50.0| 66 76 3NV +1 v8 -630 34.0 440| 64 78 3NS+1 &2 430 28.0 50.0
6 16 2v V= +8 -110 21.0 57.0 79 63 3NO+1 v4 -630 34.0 44.0| 65 77 3NN+1 &5 430 28.0 50.0
9 13 2v V= v2 -110 21.0 57.0| 88 93 3NO+1 +v4 -630 34.0 44.0| 69 73 3NS+1 T 430 28.0 50.0
28 33 2v V= *6 -110 21.0 57.0 4 18 3NO+2 48 -660 12.0 66.0| 95 86 3NS+1 &2 430 28.0 50.0
62 80 2v V= &T -110 21.0 57.0 9 13 3NV+2 %4 -660 12.0 66.0 9 13 5¢ N= a5 400 13.0 65.0
69 73 2v V= *6 -110 21.0 57.0| 10 12 3NV +2 %9 -660 12.0 66.0| 10 12 5¢ N= .7 400 13.0 65.0
84 97 2v V= *6 -110 21.0 57.0( 28 33 3NV+2 &9 -660 12.0 66.0| 27 34 5¢ N= &5 400 13.0 65.0
68 74 INV+1 &5 -120 140 64.0| 70 72 3NO+2 ¢2 -660 12.0 66.0| 28 33 5¢ N= a5 400 13.0 65.0
10 12 2v V+1 &6 -140 9.0 69.0| 81 61 3BNO+2 46 -660 12.0 66.0| 39 22 5¢ N= &3 400 13.0 65.0
24 37 29y V+1 v3 -140 9.0 69.0| 84 97 3NO+2 42 -660 12.0 66.0| 79 63 5¢ N= *9 400 13.0 65.0
31 30 2v V+1 %6 -140 9.0 69.0|] 95 8 3NO+2 +3 -660 12.0 66.0| 87 94 5¢ N= &T 400 13.0 65.0
87 94 3v V= v2 -140 9.0 69.0| 96 85 3NO+2 7 -660 12.0 66.0| 98 83 5¢ S= a4 400 13.0 65.0
36 25 2v V+2 &6 -170 3.0 75.0| 98 83 3NO+2 42 -660 12.0 66.0| 66 76 2NS+3 42 210 4.0 74.0
79 63 2y V+2 &6 -170 3.0 75.0|100 71 3NO+2 48 -660 12.0 66.0| 100 71 2¢ N+3 &5 150 2.0 76.0
95 86 24 N-2 +9 -200 0.0 78.0| 69 73 3NV+3 #Q -690 0.0 78.0 4 18 6¢ N-1 &T -50 0.0 78.0
34 « DKn10 35 « EKn865 36 & EKNn5
Ost v E53 Syd v 105 Vast v 10963
NS ¢ EKn93 ov + 108 Alla ¢ Kn984
D53 #K1032 «D8
47643 #EK98 432 « D109 482  K97643
vKné  vKD8 vK987  vD63 vED842 ¥5
+ D108 +¢62 ¢ DKn43 ¢ E952 +76 + D10532
#EK62 #10974 £976 #E85 #Kn1064 %3
452 4 K74 «D10
v 109742 v EKn42 v KKn7
¢ K754 + K76 ¢+ EK
£Kn8 &DKn4 &EK9752
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 17 44 O-2 v7 100 76.0 20| 99 84 INDS+2 ¢7 380 78.0 0.0| 39 24 3NN+2 46 660 78.0 0.0
32 31 44 O-2 vT 100 76.0 20| 66 78 3¢ O-2 *Q 200 76.0 20 1 23 3NN+1 4 630 67.0 11.0
71 73 44 V-2 4Q 100 76.0 20 519 24 N+2 v3 170 720 6.0 9 15 3NS+1 v4 630 67.0 11.0
40 12 1e N= aA 70 720 6.0| 65 79 34 N+1 v3 170 720 6.0| 36 27 3NS+1 v2 630 67.0 11.0
321 INV-1 4Q 50 58.0 20.0| 90 93 24 N+2 4T 170 720 6.0| 40 12 3NS+1 &4 630 67.0 11.0
11 13 34 O-1 +5 50 58.0 20.0| 10 14 INS+2 v7 150 66.0 12.0| 63 81 3NS+1 v2 630 67.0 11.0
16 8 340-1 *J 50 58.0 20.0| 25 38 2NS+1 %6 150 66.0 12.0| 65 79 3NN+1 46 630 67.0 11.0
20 4 340-1 v2 50 58.0 20.0| 85 98 INS +2 v7 150 66.0 12.0| 67 77 3NN+1 &4 630 67.0 11.0
22 2 3aV-1 &3 50 58.0 20.0 123 24 N+1 ¢5 140 56.0 22.0| 85 98 3NN+1 ¢2 630 67.0 11.0
28 35 34 O-1 *J 50 58.0 20.0| 20 4 24 N+1 v3 140 56.0 22.0| 89 94 3NS+1 4 630 67.0 11.0
30 33 34 0-1 v2 50 58.0 20.0| 28 35 24 N+1 ¥3 140 56.0 22.0| 96 87 3NN+1 4 630 67.0 11.0
36 27 34 V-1 vA 50 58.0 20.0| 63 81 24 N+1 +A 140 56.0 22.0 519 3NN= v5 600 52.0 26.0
39 24 34 O-1 *J 50 58.0 20.0| 71 73 24 N+1 v3 140 56.0 22.0| 29 34 3NN= v5 600 52.0 26.0
65 79 3#0-1 v7 50 58.0 20.0| 82 62 24 N+1 &5 140 56.0 22.0| 69 75 3NS= &J 600 52.0 26.0
76 68 34 O-1 *J 50 58.0 20.0| 88 95 24 N+1 ¢7 140 56.0 22.0| 92 91 3NN= *2 600 52.0 26.0
82 62 34 O-1 vT 50 58.0 20.0| 22 2 INS+1 +Q 120 42.0 36.0| 99 84 3NN-= 43 600 52.0 26.0
97 86 34 O-1 vT 50 58.0 20.0| 32 31 INS+1 v8 120 420 36.0(100 72 34 O-3 *A 300 46.0 32.0
25 38 INO= v2 -90 43.0 350| 37 26 INS+1 +Q 120 420 36.0( 66 78 3#S+1 48 130 44.0 34.0
66 78 2# O = a5 90 43.0 35.0| 39 24 INS+1 3 120 42.0 36.0 321 3#S= 48 110 36.0 42.0
10 14 INN-1 48 -100 40.0 38.0| 67 77 INS+1 %9 120 420 36.0( 10 14 34 S= v4 110 36.0 42.0
1 23 24 V= vA -110 220 56.0( 69 75 INS+1 +¢Q 120 420 36.0( 11 13 34 S= 48 110 36.0 42.0
519 24 V= 4Q -110 220 56.0| 70 74 INS+1 ¢4 120 420 36.0| 16 8 34 S= 48 110 36.0 42.0
6 18 24 O= *J -110 220 56.0| 92 91 2¢ V-1 vT 100 34.0 440| 70 74 3% S= 48 110 36.0 42.0
9 15 24 V= 4Q -110 22.0 56.0 321 INS= *4 90 23.0 55.0| 71 73 3« S= 48 110 36.0 42.0
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26 V= v3 -110 22.0 56.0( 11 13 INS= +Q 90 23.0 55.0| 82 62 3#S= 48 110 36.0 42.0
264 V= *Q -110 22.0 56.0| 16 8 INS= +3 90 23.0 55.0| 80 64 2#S= 48 90 28.0 50.0
264 O= LN -110 22.0 56.0( 29 34 INS= +Q 90 23.0 55.0 6 18 3#S-1 8 -100 20.0 58.0
24 O= v4 -110 22.0 56.0 30 33 INS= +Q 90 23.0 55.0 7 17 3NS-1 &J -100 20.0 58.0
264 V= #3 -110 22.0 56.0| 36 27 INS-= *4 90 23.0 55.0| 25 38 4v N-1 a7 -100 20.0 58.0
264 O= +5 -110 22.0 56.0( 61 83 INS= *4 90 23.0 55.0| 30 33 3NN-1 2 -100 20.0 58.0
24 O= »8 -110 22.0 56.0( 76 68 INS= +3 90 23.0 55.0| 32 31 5#S-1 48 -100 20.0 58.0
24 O= vT -110 22.0 56.0| 89 94 INS-= *+Q 90 23.0 55.0| 37 26 4#S-1 48 -100 20.0 58.0
264 V= 3 -110 22.0 56.0( 97 86 INS= *4 90 23.0 55.0| 88 95 4v N-1 3 -100 20.0 58.0
26 V= vA -110 22.0 56.0 6 18 44 N-1 v3 -50 8.0 70.0] 20 4 3NS-2 v2 -200 6.0 72.0
24 O= v7 -110 22.0 56.0 9 15 INS-1 +3 -50 80 70.0| 22 2 5#S-2 vA -200 6.0 72.0
264 O= *] -110 22.0 56.0( 40 12 INS-1 +3 -50 8.0 70.0| 28 35 3NS-2 LN -200 6.0 72.0
24 O= »8 -110 22.0 56.0| 96 87 44 S-1 v9 -50 8.0 70.0| 61 83 64 S-2 7 -200 6.0 72.0
24 V+1  #3 -140 3.0 75.0(100 72 44 N-1 *A -50 8.0 70.0| 76 68 5# S-2 7 -200 6.0 72.0
34 V= 3 -140 3.0 75.0| 80 64 3NN-2 v3 -100 2.0 76.0| 90 93 4vyDN-1 &3 -200 6.0 72.0
2NN -2 s A -200 0.0 78.0 7 17 3NS-3 *4 -150 0.0 78.0| 97 86 5#S-2 a2 -200 6.0 72.0
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